@ Doplii tabulku.
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@) Vypocitej piiklady. @) Vypocitej priklady.
390 + 5 = 420+ 7 = 670 +9 = 830+ 8=/ 2
396+ 5 = 424+7 = 678 +9=| 835+ 8 =
330+ 8 = 440 + 6 = 600 + 2 = 860 + 9 =

333 +8= 445 + 6 = 609 +2 = 867 +9 =

910+ 9= 280+ 3= 510+1= 120+ 3 =

N2+9=" 289 +3= 519+1= 128 + 3=

950+ 7= 270+ 4 = 580 +5 = 150 +6 =

955 4 7 = 278 +4 = 585+ 5= 156+ 6=

Odcitani ¢isel v oboru do 1000 zpaméti (360 - 40, 361 - 10, 275 - 14)

e 9 e 0.0 ¢ 8 & 0 O 2.0 © 0 6 5 8 0.0 85 0 0 0 0 B .S 0 0. 0 0 9 8 F 6.0 08 0.6 L. 0.0 B O 0.0 0.0 6.0

() Doplii tabulku.

- 20 - B0 - 30 -40 ~ 10

970
190
460
580
&) Vypocitej priklady.
560 - 20 =
540-10=
580 -40 =
550 -30 =




